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And he cannot retract concerning the slave - 722 17 19NN

OVERVIEW

The X 13 quotes 1211 27 that if a ¥ 2°2w granted all his 2°021 to his 72y, and
then recuperated, he may retract his gift of 2°021. He may not however retract
the gift of freedom granted to his 72y, since 1717 72 oW 1oy XY, People already
assume that the 72¥ is a free-man. 190N will be discussing the efficacy of a
MINW VW written by a ¥ 20w, in connection with the assumption that Xx»
T 12 QW 1oY.

nooIN asks:
= NI Y999 29V NINN NN [11"111'\ N3 99199]199N )2 XY ININ) 9INRN ON)

You may ask; why does he go out as a free-man [and is permitted to
marry a free-woman®] this is a gift of a death-bed ridden person -

- 11553 INNRY V) PRI NI INNRY NN NP N
And one does not acquire possession of the gift of a ¥ 2°0¥ until after his
death, and there can be no us after death.’

MDOIN answers:
- 0111 1Y AN3T2 97 U

One may answer that the ¥ 22w wrote in the 17w W that it is effective

retroactively ‘from today’ onward. [After the ¥ 220w dies the 72y will retroactively®
be free from the present date on the 7vw.] In such a case it is a good ww. The 72V is being
freed today. [There is an assumed provision that his freedom today depends on the death of
the ¥y 2°5w. Only when the ¥ 25w dies will the 72v retroactively be freed.] Therefore,
since the 72y will be ultimately freed by this 70w (if the n">w dies), we consider that it was
I 12 oW 1OV RYY; especially since the n'">w wrote that the vi is effective o1nn.

" The 5"wnmn amends the text. See (71I877) X"wAn who rejects this emendation.
? The fact that the 72y becomes free in a monetary sense, that the 117X no longer owns him is not as difficult to
understand as the fact that he is permitted to marry a 1117 N2, where there is an X787 70°X involved.
? The o°mom instituted that the gift of a ¥y 20w is effective after he dies, not while he is still alive. (See ,w"w"
12 MR 7210 and 1'"112.) A v3 or MW VW needs to be given by the NN to the 72y while the 117X is still alive. A
ow that becomes effective after the death of the maker of the 7vw is invalid. There is no one who is
transferring the privileges conveyed by the 7w to the 72v. The purported giver is already dead (see ‘Thinking
it over’ # 1). m»doIN question may be understood as follows (see 7" W 0"77M X"wIAn): The &3 says that the
n"DW is 7aV2 INM X since PN 12 QW YOV XYY, NdOIN asks; since this is a n"2w ninn which is ineffective for
the 72¥7 MW (since 70 TNRY V3 PXR), why do we say that P17 12 ow 19y X%, There is no 11 12 oW on this
72y, for he was given an ineffective 70w. The 7°7 should be that he is 72v2 7117, just as he is 2°0312 .
* See “Thinking it over’ # 2.
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moon offers another possibility; that it is not necessary that the n">w write '@vin'
explicitly:

= 199NYY ¥919 299 NYTT 11997 RNIND 199N ) ON
Or you may also say; that the 72y is freed even if the ¥y 25w wrote the vw
in the standard manner; he did not write o1n. Nevertheless, since it is the intent

of the »''>w to free the 72y -
= 0NN 1INT YINYY ANNRIY NV MNPV INYT

His intent is that the 72y should acquire his freedom at the appropriate

time when he can be freed; this means during the life of the vy 2ow.
Therefore even though 'o1in' was not explicitly written in the 7w it is assumed that the
intent of the »n">w is that the 72y should be freed while the n">w is living.” The Tww
therefore is a good ww, by which the 72¥ will be freed (upon the death of the n"ow).
Consequently, since it is a good W, therefore P17 12 oW 15¥ R¥, and 72¥2 N0 WK,

Mmoo has a difficulty with the second answer, where we follow the intent of the n">w,
rather than what was specifically written in the “v0w:
=792 90 1N INAN TI1NIY ON 12 NTNY Y919 299V DY NYTT NNINDT 1199 99NN ON)

And if you will say; since presumably the intent of the ya» 2%w is to
retract his gift of freedom to the 72v if he (the 117X) recuperates, why indeed

cannot the 17X retract and keep the 7ap. Why do we not follow the intent of the
n">w regarding 7717, just as we follow his intent concerning freeing the 72¥7 Were we to
follow his intent, then again P71 12 oW 12¥ R¥° XY, unless and until the n">w dies.’

Mo0IN answers:
= 7232 NN IIRY NN 0) DDA HNY NN 0) XX DMION NIPN YINT M0 U

And one may say; that all the laws concerning the gift of a ¥y 22w is a
avaon nipn including the ruling that he may retract the gift of his
belongings if he recuperates, and also including that he may not retract

concerning the "2y -
= D950 1D 19INOY 19D INYT RNNONYT

> See n'"m that the intent of the »">w is that it should be effective »woyn (as of now).
® According to the first answer where he actually wrote 017, and we do not depend on the intent of the »"2w
to validate the 7w, it is understood why 117 72 aw 5y XY, He wrote ovin and if the n"ow will die he is Ry
o M, not because of any intent, but because it is stated explicitly. However, according to the second
answer there really is no 27w W since 7N IMR? V3 PR and ultimately no P 72 aw vy XY, The only
reason that it may be considered a v is because of his intent. His intent however is that there should be no v
if he recuperates. It is not fitting to consider it a ©3 on account of his intent; if his intent is that it should not be
a i (see 1"MN and 7™ W 2"7nn). See (however) 2Xp MK "Ha.
7 See “Thinking it over # 3.
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For presumably his intent is to follow whatever the 2251 will tell him.
Therefore there is no implicit intent on the part of the n">¥ to retract the MY if he
recuperates. Rather his intent is to follow the wishes of the o25n. The o251 want the 72y
to be free, since the n"5w wrote a MY W, it is 10 12 0w 15y xx°.®

mMooIn makes a distinction:

- [93'\1)3’ NY ON 0Y01] 7M1 OX 017N N*TNa AnNd ON 1IN
However if the ¥y 200 wrote explicitly in the 70w that this gift is valid
from today onwards; if the vy 2°0w will die it should be a 1177w v [and if he

does not die then as of today it is not a "W v3] -
= 7aPa 9N 1IRY 91997 179N 13 DV PUY RN DT 1D DIYPY AN PN

It does not appear reasonable to assume that in this case the fact that the
72v is being called a free-man should be effective to the extent that we

should say that he cannot retract the freeing of the 72y -
$YIYH92 NINNVY 9NNNI

Since he made an explicit provision that the 72v will be freed provided that the
yn 20w dies. The ¥y7n 220w recuperated; therefore the 72y is not freed'’.

SUMMARY

There are two ways to explain the 17 that if a n">w gives a MINW VW to his
72¥ he will be freed, even though, generally the gift of a n"2¥ becomes
effective n°» AR and the rule is 70°M NR? VA PX.

A. that the n"2w wrote explicitly that the 7nw take effect o»nn.

B. The n">w need not write '2>rn' in the MY Ww. We assume that his intent
1s that the 7MW be effective o»nn.

It is also assumed that when the n">w writes a 1MW WY granting his 72y all
his possessions, his intent is that it should be in accordance to the will of the
oon. Therefore if he recuperates he may retract his gift of property, but he

¥ See ‘Appendix’.
® The 717 Y7 inserts this phrase; to assure that it will be a 9195 *Xin; otherwise it is not a valid *Xin. See
(however) n'"ma.
91t is questionable whether N0 is now retracting his first answer, and currently maintains that if the »">w
wrote 0111 we are not depending on his intent to do as the o311 wish. Rather we assume that he only wishes
it to be a MW va if he dies. Therefore if Ty then he is MM even 72y2. Or perhaps there is a distinction
between writing 'a1in' and writing 'N1»° oR a1an'. When the »">w writes merely 'ovin' then it is a good 0w
and 72v2 N0 1R, If however the n">w writes 'n»* ok o1y, then he made a distinct provision that if nm> 82
03 "7 X7, then we cannot use the X120 of P77 12 oW 19y XY to prevent his retraction, and he is 722 0. See
'R # 168.
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may not retract his gift of freedom to the 72¥. This too is the wish of the 23m
(since P17 12 QW 1HY RY).

In a case where the n">w wrote explicitly n12° X 2171, it appears that he may
be 72v2 11, since he explicitly stated that it will effective only if he dies.

THINKING IT OVER
1. How is the anp 72y the o°031 after the death of the n">w? "' Who is mipn it
to him? How do we distinguish between the 72v77 MY and the °031 7°1p?

2. Is the 72y permitted to marry a P n2 while the n"ow is still alive?'?

3. Why does msown say 121 0 Ko i N2 MAw an "19Y ovnean nipn pon?t
Seemingly if 7 5"¥ he is able to be 711, then the 1"pn is only by 72y, that he
1s not M. If 17 9"Y he is not able to be 7117 then the 11" s only that by 0°031
he is !

APPENDIX'5

The second n"X) of '01n asks: since the intent of the »n"Jw is to be 7117 if he
recuperates, why indeed can he not retract concerning the 72¥? The question,
as explained previously, is that since we are following his intent, there is no
n"a ow 1oy XY, It is evident that even after the n"ow wrote the 0w ww, he
does not intend to free him if he recuperates. It is not clear therefore what is
mooIN answer that 121 251 NIpn %21, Why indeed were the jpnn o°»51 that he
is not 72¥2 N, since seemingly 112 ow 1YY XY R?

It would seem perhaps that really in all cases, once a MW WY is written
there is to certain degree a "2 oW on this 72y. However it is not sufficient to
deny the n">w the right to be 9111 unless this MW “vw will ultimately free
the 72y. Therefore MdOIN question was; we cannot deny the n">w the right not
to be 72¥2 N0 if he did not explicitly write 2»nn. The only reason why this
ow will ultimately free the 72y is because of his intent (and therefore you

' See footnote # 3.
12 See footnote # 4.
13 See footnote # 7.
" See 162 # 1"nx
15 See footnote # 8.
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deny him the right to be 711); however this same intent declares that he
chooses to be 711 if he recuperates. We cannot use his intent to go against his
intent!

MooIN answers that once the MINW VW was written there is automatically a
n"2 ow on this 72¥; especially since the n">¥ intends to be 7nwn» him properly
— o»nn. Therefore there is a certain degree of 11"2 aw on this 72v. The o0
therefore prefer that 72v2 9nn 1°X. The »">Ww in turn will follow the dictum of
the 2 131 not to be 72¥2 M1 even if he recuperates.
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